MBF3C — Compound Interest Date:

Changing Conditions on Investments & Loans Practice

1. Describe the difference between the graphs of y = 400(1.05)" and y = 400(1.07)" (without
graphing).
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2. For a $1 500 investment, at 7% per year, compounded semi-annually, compare the final
amounts and total interest after each of the following terms.

a) Three years b) Four years c) Five years
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3. Bruno borrows $1 000 from a high interest lender (loan shark) at 105% per year, compounded
daily. How much interest will Bruno pay if he takes

a) 1 month to pay off the loan b) 2 months to pay off the Ioanb,
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4. A $675 investment earns interest at 3.4% per year, compounded semi-annually, for five years.
How will the investment amount be affected if you double

a) the interest rate
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5. Soo Yun hopes to have $3 000 in two years to buy a home theatre system. Determine the
amount she would need to invest (i.e., present value) to reach her goal at

a) Annually

b) Semi-annually

¢) Quarterly

d) Monthly

e) Bi-weekly

f) Weekly
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a) 4% per year, compounded semi-annually | b) 5% per year, compounded semi-annually
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6. Jamie wants to invest $14 000 for 6 years. Calculate the future value of her investment for
a) 5.8% per year, simple |b) 5.5% per year, compounded |¢) 5.0% per year, compounded
interest semi-annually monthly
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7. Your friend Steve does not understand the difference between some possible investment options,
each with a different compounding period. To help him, calculate the future value of a $10 000
investment over 10 years at 8% per year for each compounding period.




